Section 6.1
Sum and Difference Formulas

sin(A4 + B) =sin Acos B +cos Asin B cos(A+ B) =cos Acos B—sin Asin B
= = = =
sin(4 — B) =sin Acos B —cos Asin B cos(A— B) =cos Acos B+sin Asin B
- = - =
A+tan B A—tan B
tan(A + B) = tan tan tan(A - B) = tan tan
l—-tan Atan B 1+tan Atan B

Example 1: Use the appropriate angle-sum formula to simplify the following expression.
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Example 2: If sinx =« then sin(7 —x)=a.|True k)r False?
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Example 3: tan (% - xj =cot x, True or False?

Be careful when verifying whether a statement involving tan or cot is true or false. This is
because tan and cot come from sin/cos or cos/sin, respectively.

Start with the left-hand side...there’s more to work with there.
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Example 4: Let tanc =2 with 7 < & <377z and cosﬁzé,with 7”<ﬁ<27r. Find

cos(a + ) and tan(a — f).

Recall: cos a+ ,B =cosacos f—sinasin f
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tan(a — ). %_ - (- —E>

Recall: tan(a — f) = tang—tanf =

l+tanatan S -G
v+ 2(CE
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